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Q2(a) Ify=e®.sinbx, then prove that y, —2ay, + (a2 +b?)y=0.
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Q2 (b) Find the equation of the tangent to the curve y2 =3—5X parallel to the lines 5x —
4y +13=0
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Q3 (a) Evaluate J.ezx.sin 3xdx
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Q4 (b) Using Cramer’s rule, solve the following system of liner equations,

(a+b)x—-(a—b)y=4ab

(a=b)x+(a+b)y=2 (a2—b2)
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Q5 (a) Solve the differential equation (x +y) dy + (x —y) dx =0 given that
y=1whenx=1
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Q5 (b) Solve the equation cos x(1 + cos y) dx—siny (1 + sinx) dy =0
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Q6 (b) Let S, denote the sum of the first n terms of an A.P. If S2p, = 3Sp, , then prove that
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Q7 (a) If A, B, C are the angles of a triangle, then prove that,

sin2A + sin2B + sin2C = 4 sinA.sinB.sinC
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Q7 (b) Prove that, cos202.cos602.cos402.cos802 =E
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Find the equation of the two straight lines through (7, 9) and making an angle of 602

Qs (a)
with the line X —+/3y —2+/3 =0
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Q8 (b) Find the area of the triangle formed by the linesy =x, y =2x and y = 3x +4
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Q9 (a) Find the equation of the circle passing through the point (1, -2) & (4, -3) and which
has its centre on the strength line 3Xx + 4y =7
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Q9 (b) Find the focus, vertex, axis, latus-rectum and directrix of the parabola
X*+4x+2y=0
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Applied Mathematics for Polytechnics H K Dass, 8" edition , CBS Publishes & Distributers.

A text book of comprehensive Mathematics class Xl , parmanand Gupta , Laxmi Publishes (P)
Ltd. New Delhi .

Engineering Mathematics ,H K Dass , S Chand & Company Ltd 13" edition , New Delhi.
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